OREC

#1TNo. HRG661—5

IN= T Zwa s

N =T A T A —

HRGO6O6 1

LSV BAEHS =2—F

HRG661 0252—AAAA0

gobgoboooougon

(QE| )
Fig 1 NURAE e o o v v v oo oo 1
Fig 2 ZL—Af « « o« o o oo oo 3
Fig 3 Iouiaiffie oo 9
Fig 4 XMEG . « « « o o o oo o o o oo 14

w T—1r v

201 7% T7TH 148 %7


pro_09
タイプライターテキスト
目次をクリックしてください

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト

pro_09
タイプライターテキスト


iz D T IZ oW T

. EBAR R ORERIZ SN T
Z O ARFIT, RN &R D SR S TV ET

. RO RFTITHONWT

BFRRHLOWES 2T~ 0 L %87 2O O FH L5 Ko T BRSO E 5
i, —EHT 0 OEER E A, EHaMEN OB T IV, M, " E RO NS—=Y Y X by D
ZHTZE W,

. B ORERRDOFIRIT, RELESEELOLHIETRRLTEY £7,

() 36~42 ALYy bk (12X5. 50—6)
36 4% (12X5. 50—6) 37 HA Xy F
38  AAN (12X5. 50—6) 39 ARANLER
40 RNARNL S M8 X 16 41 NARLE M8X20

42 NAF > b (SW) M8

iy

ok

=il AN
a2 — Rid., ROBEIZ/ > TWET,

(B = — ) — (L= — F)
O00O0-00000

peisy

B =t —

(=2 — ) — EBAL=—F)
O00-0000-000-00

SEHETL h 8 9 —O00O-0000O0O

HEREVERR i 8 3 -—000O-00000O

p
oo

paisy

Fliz oW
Biaid, 2 TarPa—Z—TEHBRINTWD A, JHEXOBIIHEESL ., L% e,
&, BEE, PR E ST, ZRAT I,

i

iy

R

palsy

hut
ol

I

- B BT D 78 b 00 B g B
T2V BERER AR, KONERES O, R b, Ty M) O ZHEE, D <K £ O TBEWLET,



Fig.1-1 7\ RILER

TN

12 [0251-72110

NRIVETERETANV—

11 183-1614-932-00

T3 )4 —

10 |89-2521-000100

ERIE&HEF 10

89-2521-000050

ERIEHER 5

89-1711-060002

EEES 6X13X1.0

89-1158-060102

EARINARD(PW.SW)M6EX10

0028-70320

REFBELERAMYF

0251-72300

L/N—iIN22,08)

80-1417-255-00

L/AA—1EY 7R

80-1614-251-00

FATToavLIN—

80-1415-223-00

NURILR Ry b

—IN|W|A~|O|O || |©

80-1210-222-00

NORIVETISA THhT5—

—m === === = ===

B
dJjo

eSS

T

(EE

& &

_1_




Fig.1-2 /\>KJLER

HRNEN

13 |0253-70100 YAROTYFIA N — 2
12 [0251-72200 JL—F 04— 1
11 |83-1614-932-00 |F> 3> IA— 1
10 |0253-77100 92 9FLN\—(170-¢ 27.2) 2
9 [0251-10110 \2FJLCMP 1
8 [0226-70300 AOYRLT A4 — ASSY 1
7 |89-2521-000100 (EZE!itsHEH 10 1
6 [89-2521-000050 |EZ!it&HiEH 5 2
5 |89-1711-060002 |FES 6X13X1.0 2
4 [83-1560-414-00 [/\>K)LTV)wT27 2
3 |0006-70500 LAA—iEY 210 1
2 [80-1614-248-00 |TL—F AT 1
1 [80-1614-241-00 |EfTTavlL/N— 1
E5S | B HREFE B B & [EE fim =

_2_




AR

Fig.2-1 2L —L%p

21 |0252-61300 NS FREEL /N —

20 |0252-42200 24%(4.00-12) % ASY
19 |0252-42100 AAX(4.00-12) 7 ASY
18 [0251-22410 FrooR—49yTL—+

17 |89-2181-080602 |FEEEY 8x60

16 |89-2131-160002 |RE> 16

15 [89-2131-080002 |RE> 8

14 [89-1711-100002 |FEEL 10X18X2

13 |89-1551-060002 (UFvk M

12 189-1543-100002 |/MEYFREF v R(SW) M10

11 [89-1232-100252 |[/MEE/REHAIJLE(SW) M10X25

10 |89-1211-100202 |/Mig7<AARILE M10X20

89-1113-060352 |/<FARJLRBT) M6X35

83-1713-166-00 |[}.BEE > 10x 80

83-1711-151-00 |FBEE> 8X42

83-1210-425-00 |L/\—#EY 10

80-1711-416-00 |7RAJLF2—T190

80-1620-744-00 |L/\—P 3 Ak

80-1620-743-00 | NI L N—2(F

80-1620-742-00 |L /\—EUtRT—

N[(=[=][=|N]=INI=IN|OINON(W|A[=IN]=|—=|—=|—

= IN([W|Ah || |J|00|©

80-1330-413-00 |74 JLIRRC MP

BH
djo

B aE s B om A B w *




AR

Fig.2-2 7L —L%p

17 |0252-64300 YA H/\—

16 [0252-64100 FoA—hory bk CMP
15 [0252-43100 AN )Lk H/N—CMP

14 [0251-11000 ETFRby/R—

13 [0207-70800 JaAyk 4535

12 [89-1750-120002 [/\REE ¢12

11 |89-1750-100002 |[/\HREZL ¢ 10

10 [89-1750-080002 [/\R[EL ¢ 8

89-1253-080162

BE{HINEZ 7N AR JLIN(8T) M8X16

89-1233-080162

INBY SR AR )L (SW.PW)M8BX 16

89-1211-100202

INERARILE M10X20

89-1137-060152

NAMRILEPW) M6X15

83-1210-133-00

MR ARILE M12 X 160

80-1310-228-00

N IVEETY b

80-1310-215-00

AbwN—HE7 2

= IN([W|Ah || |J|00|©

80-1210-217-00

Ah YIRS

80-1210-216-00

Akvis——t>

0

B

N

B aE s

—_ = =N |=WwINIWININDININ === —=—




Fig.2-3 7L —L%p

AR

16 [89-6123-006903 |VA'JLF.B6I(SG1000) 1
15 |83-1614-932-00 |7 3 24— 1
14 |0252-40300 JL—%Ov kK 1
13 |0251-40100 FA7Toa T—A 1
12 |0231-37100 F42JIL—% 1
11 |89-3115-062034 |R71) >4 6203 2RS 2
10 |89-2521-000150 |EEUbHEF 15 2
9 |89-2512-000400 |7vFHIE®HER 40 2
8 |89-2511-000170 |EAFAIE&HER 17 2
7 [89-1233-080162 [/NEIREARILE(SW.PWIMEX16 3
6 |83-1032-765-00 |73 —)— 2
5 |80-1614-561-20 |~NJLRRZ 1
4 [80-1614-552-00 |73 REL/R 1
3 |80-1614-373-20 |FA427JTL —F/\% 1
2 |80-1560-551-00 |T7> i3 BIERT) Y 1
1 [80-1415-562-20 |F 4 I ~)Lk X% CMP 1
55 | B R EFE S B & 4 Bk B &

_5_



AR

Fig.2-4 7 L —L%p

21 |89-6122-004601 |VA)L LA-46

20 [83-1614-932-00 |7>ia A Y—

19 [0211-54200 FTTU a3 T—LA

18 |89-3115-062034 |RXF7 >4 6203 2RS

17 [89-2521-000150 (EZEUtsHER 15

16 |89-2512-000400 |7vFHIE&EF 40

15 |89-2511-000170 |EhAHIEOHER 17

14 [89-2151-070400 |F— (K #L)7 %40

13 [89-2150-050200 |+— (ML) 5X20

12 [89-1750-080002 [/\RfEE ¢ 8

11 [89-1711-100002 |[F-EEE 10X18X2

10 [89-1543-100002 [/NEUFREFY F(SW) M10

89-1233-080162 |/NEIRARJLA(SW.PW)MBX16

89-1213-080202 |/NEIRAAR)JLNBT) M8X20

83-1565-315-00

SEEES 8X36X4.5

83-1032-765-00

Fia ) —

80-1614-552-00

ToiavRELAR

80-1614-521-00

SwigJ)—

80-1614-514-20

o) —

80-1560-551-00

T3 UBIERT) Y

= IN([W|h || |J|0|©

0004-40600

~N)LREZ

QY NG JUIIQY JNIIQ) JUIIQH NG JNIQY Q) NINQ JUIIQH Q) NITQ Q) NIIQ NIrQ) NIQ) NIIQ) JUIIQ) JNIIQ NIIg) Uy

0

B

N

B aE s

w =




Fig.2-5 7 L —L%p

AR

21 |0253-79100 L/AN—48Y T L 127 1
20 |0253-22500 Fx ooy K Bt 1
19 |0253-16100 FroPL/N— 1
18 |0252-41100 NI)LkH/N—AHYAF CMP 1
17 |0251-22310 FrooOoyR BT B 1
16 [0251-11600 FzoUH4AR QWP 1
15 [0251-11300 FzooTL—h 1
14 [0211-30300 BHER—XC MP 2
13 |89-2131-120002 |REY 12 1
12 |89-1750-100002 |/\AREEL ¢ 10 5
11 |89-1711-100002 |FEFEESL 10X18X2 4
10 [|89-1611-100042 [/NEIREABFv k M10 1
9 |89-1543-100002 [/NEIRAF F(SW) M10 4
8 [89-1543-080002 |/NEIREAF Y F(SW) M8 4
7 |89-1233-080162 |/NERARILESW.PW)MEX16 3
6 |89-1232-080162 |/Miz7<FARILESW) M8X16 4
5 |89-1213-101302 |/NE;RARILE(BT) M10X130 1
4  |89-1213-100202 |/NEV;RARILAET) M10X20 4
3 |89-1213-080402 |/NE!;RAKRILE(BT) M8X40 4
2  |83-1565-329-00 |FEEFE 13X22X2.3( UHAA—) 1
1 [83-1310-387-00 |[EIY (kA £H A8 4
55 | B R EFE S B & 4 Bk B &




Fig.2-6 7L — LI}

25 [80-1614-310-00 |JL —3FASY 1
24 10251-00000 Syl g —RASSY 1
23 |0251-72200 JL—F%74v— 1
22 0253-70100 AR ISy FIALY— 2
21 |0252-21210 AEIL—L(H) CMP 1
20 |0252-21110 AEIL—L(E) CMP 1
19 [0251-22110 X IS4y b 1
18 |0211-31800 TJL—F/wF (K) 1
17 [89-2511-000140 |#hAAIEHER 14 1
16 [89-2120-200152 [EIE> 2X15 2
15 [89-1750-120002 |/NREE ¢p12 1
14 |89-1711-060002 |FEEEE 6X13X1.0 2
13 |89-1543-080002 [/NE!;NEFV(SW) M8 3
12 |89-1253-081453 |FE{H/IEE/AFAARILNET) M8X145(a=4 1) 3
11 |89-1232-100202 |/Mz7<fAARILEESW) M10X20 4
10 [89-1132-060122 |7<fA7RJLSW) M6X12 6
9 [89-1111-120952 |/AEHARILE M12X95 1
8 |85-1445-317-00 |TL —F/\vx> (/]h) 1
7 [85-1711-317-00 |BIERXT) 4 2
6 |85-1711-318-00 |JL—F>a—tvk 1
5 |85-1711-315-00 |JL—FFK 5L 1
4 |85-1310-531-00 |[/\T R I Ak 8.0Kg 1
3  |80-1614-315-00 [BIERXT) L4 1
2 |80-1614-314-00 |JL—%2J4% 1
1 [80-1614-312-00 [JL —%Hh/\—CMP 1
B | & EF 5 M m A B ®m &

_8_




Fig.3-1 Syl a i

0251-04300

FrO7—LCMP

89-1543-080002

INBIFREBFy M(SW) M8

89-1254-101153

EE{H N A<AARILNET) MIOX115( B ) (=4 0)

89-1253-081403

FE{H NS 7N AR JLIN(BT) M8X140(a=40)

89-1253-081353

FEAF /M7 EAR JLN(ET) M8X135(1 =4 0)

89-1253-081203

Mz AR JLINEBT) M8X120L=4 1)

89-1253-081153

FEE{F Mz AR )LBT) M8X115(a=40)

89-1251-100122

FEAH N 7R AR LS M10X12

83-1565-111-00

AR ILASW.PW(K)) M6 X 16

83-1493-255-00

AFRA—/\—Ov oyt MOGHE)

83-1484-255-00

UJFR—/\—Avy o +vyk+ M

83-1020-349-00

g/ vy F 10

80-1614-198-10

AR ISV FILN—ItA (B)

80-1565-197-00

YAR D59 FIAY—1bA (K)

= IN([W|Ah || |N|00|©

80-1565-159-00

EHHHB B g/ M 7

80-1565-153-00

Y4L 95y FF7—LCMP

0

B

N

B aE s

B o& A

_9_

AR

N[N [ == =mlo|=(=]=|NNN[w|[=|N =




AR

Fig.3-2 Swia i

17 ]0251-04100 HE CMP

16 |89-5121-153007 |4 A4 )L —)L UE 15.30.07

15 [89-5121-122207 |[# 4 )L —)L UE 12.22.07

14 |89-3111-060064 |74 6006

13 |89-2512-000550 |7vFHiE&EF 55

12 [89-2111-050020 [RTULHEY 5X0

11 |89-2111-030020 (RTYHEL 3X0

10 |83-1517-685-00 |A A JL¥E 20

83-1415-672-00 |AHS5Z D

83-1415-671-00 [AVT5F 2

83-1415-662-00 (A1 )L —)L AP30.55.16

83-1415-127-00 |2 —)L7KJLE(SW)8 x 20

80-1614-103-00 |Swiga 7R &

80-1565-156-00 |HE#BB4Y—X (H)

80-1425-112-00 |FI7AYHI4+—D8h

80-1415-114-00 |YAK OISV FIA—

—_ |l _m | _m == DN =R mm=m ] =m=m == =N

= IN([W|Ah O[O |00 |©

80-1310-150-10 |Em#"> 9O5L

BH
djo

B aE s Bmom A B w *

_10_



Fig.3-3 Swia i

AR

16 |[0251-01300 28H32T ¥V 1
15 |0223-01200 I\ Y XFCMP 1
14 |0223-00800 5 2 1
13 [89-3111-062024 |RF7Y> 4 6202 4
12 [89-2511-000200 |EhFHLE&HER 20 2
11 |89-2511-000150 |#hFI1E&HER 15 2
10 |83-1830-368-00 | RS Rk T i — 18X26X10 1
9 [83-1633-362-10 [R5 Rk v 4 — 15X30X12 2
8 [83-1310-371-00 |RAS Ak v 4 — 20X30X10 2
7 |80-1923-129-00 |EFE28H14T X\ 1
6 |80-1920-130-00 |HS5—A 1
5 |80-1575-162-00 |HAKHSyFRI) Y 2
4 [80-1575-142-00 |9A(KHUS5vyF38TX7 1
3 |80-1575-129-10 |&E2&h24 TX7 1
2 |80-1032-141-00 [YAKRHUSYF14TX7 2
1 |80-1032-140-00 |HAKH5w Fih 1
55 | B R EFE S Bk B &




AR

Fig.3-4 S i

12 |0251-02100 3EH14T ¥V CMP 1
11 |0251-01610 3EH22T ¥V CMP 1
10 |0251-01100 Svia E—# 1
9 ]0223-02500 H5—6 1
8 |0223-02400 H5—11 1
7  |0223-01400 %38 1
6 |0223-00700 FE14TX7 1
5 (0223-00600 FH20TX7 1
4 |89-3111-062024 (X724 6202 4
3 |89-2511-000160 |EhFHIESEF 16 1
2 |83-1830-368-00 [R5 Rk w4 — 18X26X10 5
1 |80-1575-128-10 | 28432 T XV 1
55 | B R EFE S B & 4 Bk B &

_12_



Fig.3-5 Swia i

AR

23 |0251-00300 LI

22 0251-00100 Svia bR E
21 |0223-00400 LI —8H

20 |89-5221-009000 (024 P

19 189-5121-153007

A4 )L —)L UE 15.30.07

18 [89-5121-122207

A4 IV —)L UE 12.22.07

17 189-3510-012200

DUJw a2 1220

16 [89-3410-075000 |§fIk7. 5

15 [89-3111-060064 |X7')> %" 6006
14 [89-2512-000550 |7NFALE&ER 55
13 [89-2120-200202 |[EIE> 2X20

12 189-2111-050020

AT GE 50

11 [89-2111-030020

ATYIITEY X0

10 |83-1517-685-00

AAIEE 20

83-1415-672-00

AV5F D

83-1415-671-00

rA)S5E 2

83-1415-662-00

A4 )L —)L AP30.55.16

83-1415-127-00

< —)L7RJLE(SW)8 x 20

80-1575-109-00

BIZERA VI T —LCMP

80-1565-155-00

HH#B B4 —X (X)

80-1425-112-00

TIAY DI+ — %

80-1415-114-00

YR ISV FI+—

= IN([W|A OO |N|0|©

0282-00400

JYFRIT) Y

el el el e el YN e N N N N N N N N e N e N e N e N e N R

BH
djo

B aE s

B

w =

_13_



Fig.4—1 N HEER

AR

0252-61100

28 b7 —LCMP

0251-61200

M= EREARIEZ (T

89-2181-100502

EEEEY 10 X 50

89-2131-100002

RE> 10

89-2120-300352

FE 3X35

89-2111-050022

AT TEY 5X22

89-1750-120002

NREE $12

89-1714-120002

FEREEE 12X24X2.3 (Al AL)

89-1713-120002

EEL 12X26X2.3

89-1611-080042

NIRRTV M8

89-1513-120042

NV (358) M12

89-1211-080252

INBRIZRER LS M8X25

89-1111-120302

NARILE M12X30

83-1610-192-00

NAFTVE(H)MI2 P1.25

80-1622-743-00

NEIRABLN—TFTHTH—

80-1622-727-00

HilER (21 VIR E 230BL)

80-1622-723-00

HIR 7 — L

0251-61400

WS FREARILE

80-1613-733-10

"EH/IN—

= IN|w|d|O|D || |©

80-1610-714-00

20 7 — L ER AT #h

N[=[=ININ[=ININININININIWIN|=IN|=]|—=|—=]|—

BY

g

0

BaES

B & &

B
%

e &

_14_




Fig.4-2 Y EUEB

AR

18 [89-2120-200152 |EIE>, 2X15 2
17 |89-1750-080002 [/\ARFEE ¢ 8 6
16 |89-1711-080002 |TFEE4 8X18X1.6 6
15 |89-1711-050002 |FEEESL 5X10X1.0 4
14 [89-1671-080042 [/NEIRXELS vk M8 6
13 [89-1211-080202 |/MEURAARILE M8X20 4
12 |89-1211-080162 |/NEIRFAMNILE MBX16 2
11 |89-1137-060152 |7<fAARILEPW) M6X15 10
10 |89-1581-060042 |FE(H&FvE M6 10
9 [80-1614-782-10 |\) XTS5 /\— 1
8 |80-1613-769-00 | Rk v/ \—#R(H) 1
7 |80-1613-768-00 |Ak v /\—#R(%E) 1
6 [80-1612-781-00 |75 /\—qi 1
5 |80-1610-787-00 |75 /\—3RZ% 2
4 [80-1610-771-00 |25 /\—HU4xRC MP 1
3 |80-1610-764-00 |ZAk H/\—CMP 1
2  |80-1610-749-00 |#FER—K (B) 1
1 [80-1610-748-00 |i#&FA—K (A) 1
5B A& B 5 B @ 4 E %% B &

_15_



Fig.4—-3 NI EER

AR

26 [89-6123-003900  |[VALk LB-39 1
25 [0218-71100 Ay JLNET) M8X25 2
24 [0211-63200 0k T30 F7—LCMP 1
23 |89-3115-062034 |~7!)>%" 6203 2RS 1
22  [89-3115-060044 X714 6004 2RS 2
21 [89-2521-000150 |EE!iE&HER 15 1
20 [89-2512-000400 |yNFH1E&HER 40 1
19 [89-2511-000170 |EHAALE&HER 17 1
18  |89-2151-070300 |F—(H3#L)7% 30 1
17 |89-2151-050350  [F— (A #L)5X35 2
16 |89-1750-100002 |/\AREZE ¢ 10 1
15  [89-1750-080002 [/\REE ¢ 8 6
14 |89-1611-080042 |/MEURAF Vb M8 2
13 [89-1233-080162  [/NEY7RAAILMSW.PW)M8BX16 2
12 |89-1213-080182  [/MEURAMNILIET) M8X18 4
11 [83-1610-322-00 |FE£ 10X36X6 1
10 |83-1610-125-00  |/MEYFRKARILEMI10X35(8T A V%) 1
9 83-1610-321-00 |FEEL 10X36X4.5 2
8 |83-1032-765-00 [T iavT—1)— 1
7 80-1614-694-10 |FAIRJLrH/N— 1
6 80-1614-691-30  |HR—A—/X/TCMP 1
5 [80-1614-636-00 |HHR—H—T—1)— 2
4 80-1614-634-20 |+ A4 27F—1)— 1
3 80-1614-621-30 |H7R—F—&H 1
2 80-1614-315-00 |5|ZRT)> 4 1
1 80-1182-527-00 |7 i 3>B|ERILE 1
&5 T B & & 1E % wm &

_16_



Fig.4-4 Y EUEB

17 [80-1610-821-00 |+1 2 38
16 |83-1610-835-00 |E{d7R/)Lktyk 19
15 |80-1614-800-00 |74 7K 5., ASSY 1
14 |0252-60100 O—4%1) —h/\—CMP 1
13 |89-3115-062064 |XF7!)> % 6206 2RS 2
12 [89-2512-000620 |7vAALE&ER 62 2
11 [89-1812-100002 |t&{TEEZ () 10 1
10 |89-1750-080002 |/\REEL ¢ 8 10
9 [89-1671-080042 [/NEIRARTvE M8 6
8 [89-1253-080162 |FE{T/INEZ7SEARILN(ET) M8X16 4
7 |83-1610-321-00 |FFEEL 10X36X4.5 1
6 |83-1610-124-00 [/NEIRARILEMI10X25(8T.EF) Av4) 1
5 |80-1614-810-00 |BBs—XH/\— 1
4 |80-1614-804-20 |/ 7#BB~7—X CMP 1
3 [80-1614-705-00 |[fA+REFEEAR/L+ M8 x 18 6
2  [80-1612-813-00 |4 Ak S1/\— 1
1 [80-1610-804-00 |BB4—X 1
55 | B R EFE S B & 4 Bk B &

_17_



Fig.4-5 Y EUEB

AR

19 |0252-83600 YAK T4 /1 (F—HBIBL CMP 1
18 [0252-83500 YA T4 /({5 —BiBR CMP 1
17 |0252-83400 T4/ ME3—HBYtA CMP 2
16 |0252-83300 YAR T4 /M F4—F7—LB CMP 2
15 |0252-83200 AERER 2
14 [0252-83110 YAR T4/ M3—7—L A CMP 4
13 [0252-81810 A7ty b EE 12x32 8
12 |0252-81700 FES 12X 44 % 3.2 12
11 [0252-81610 T4 1M BE—1\ (T 40 2
10 [0252-81510 TA INMBE—1 T 150 4
9 |89-1750-100002 |/\REEL ¢ 10 8
8 |89-1711-100002 |FEEZL 10X18X2 4
7  |89-1611-100042 [/NEYREFv k M10 4
6 [89-1513-120042 |/"FFv bk (3F8) M12 2
5 |89-1233-080162 |[/NE!RARILESW.PW)MEX16 4
4 [89-1232-080162 |/NMEZ/NEHARILESW) M8X16 8
3 |89-1211-100252 |/MEIRMANRILE M10X25 4
2 |89-1211-100202 |/ME7NFARILE M10X20 8
1 [89-1111-120302 |/NARILE M12X30 2
55 | B R EFE S B & 4 Bk B &

_18_



Fig.4-6 X EUEB

AR

13 |0252-81810 A7ty bk EE 12x32 4
12 |0252-81700 FEL 12X 44% 3.2 6
11 |0252-81610 T4 I1MBE—1\ (T 40 1
10 |0252-81510 TA INMBE—1 T 150 2
9 ]0252-81400 fyTT4 1 M5 —7—L L CMP 1
8 |0252-81300 fyTT4/M5—7—L R CMP 1
7 |0252-81200 ey TTa MR/ T 1
6 ]0252-81110 fyTT4 1 MF—F—L A CMP 2
5 |89-1750-100002 |/\REEL ¢ 10 4
4 [89-1711-100002 |FEFEL 10X18X2 2
3 |89-1233-080162 |/NE!RAKRILE(SW.PW)MEX16 2
2 |89-1232-080162 |/IMiz7<fA7RILN(SW) M8X16 6
1 [89-1211-100202 [/IMiZ7NFEARILE M10X20 4
5B A& B 5 B @ 4 E %% B &

_19_





